
Tricky	

	

	

Trickier	–	complete	question	2a	from	Tricky	challenge	first	

	

	

Trickiest	–	Complete	question	3	from	Trickier	challenge	above	before	tackling	the	questions	below	



		 	

		 	 	

	

Answers	

Tricky	

	

			

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	



Trickier	

	

	

	

Trickiest	

	

	Will	need	66	tables	as	459	÷	7	=	65	r4	

	

	

	

	

	

	

	

There	will	always	be	a	remainder	1	
because	in	the	ones	column	is	6	and	1	

	

In	the	five	times	table	the	ones	column	is	
either	a	5	or	0,	so	there	will	be	one	left	


